9-1 GCSE Chemistry Ionic Equations — Answers

lonic equations

B: ‘net ionic’ means the ionic equation with spectator ions cancelled.

Equations with state symbols included

1.

HNOj3(aq) + NaOH(aq) 2 NaNOj;q) + H.Oqy

ionic: H*ag) + NO;3 (aq) + Na*aq) + OH aq) > Na*(aq) + NO; aq) + H20q)

net ionic: H*@q) + OH aq) > H20q)

HCl(aq) + KOH@q) = KClag) + H,Oq)

ionic: H*@g) + Cl ag) + K'(aq) + OH (aq) > K*(ag) + Cl7ag) + H200)

net ionic: H*aq + OH g 2 H.O0q)

H,S0,aq) + Mg(OH)2(aq) > MgS0,aq + 2H20q)

ionic: 2H"@ag) + S0,> (aq) + Mg (aq) + 20H (aq) Mg (aq) + SO,* (ag) + 2H-0q)
net ionic: H* g + OH g 2 H.0q)

NH,OH@q) + HCl@ag » NH,Clag + H.Oq)

ionic: NH," ag) + OH (aq) + H*aq) + Cl"(aq)  NH,"(aq) + Cl (aq) + H2O0q)

net ionic: H* g + OH g > H.0q)

H,COsaq) + 2NHjaq) > (NH,).COsaq)

ionic: 2H* 1) + CO5* (aq) + 2NHjaq) 2 2NH, aq) + CO3* (aq)

net ionic: H*aq) + NH;aq 2 NH, g

Pb(NOs)aq) + 2LiClag) & PbClys) + 2LiNOsqg)

ionic: Pb**aq) + 2NO; (aq) + 2Li*aq) + 2Cl (aq) 2 PbClys) + 2Li*aq) + 2NO3 (aq)
net ionic: Pb**(5q) + 2Cl aq) & PbClys)

Ba(NO;)>(aq) + MgSO4ag) > BaSOys) + Mg(NO;)xag)

ionic: Ba* (aq) + 2NO3 (aq) + Mg**(aq) + SO,* (aq) > BaSO,) + Mg** (aq) + 2NO3 (aq)

net ionic: Ba*(aq) + SO,> (ag) 2 BaSO,s)
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8. AgNOjq) + NaBrug = AgBris) + NaNO;aq)

10.

ionic: Ag*ag) + NO3 (aq) + Na*(aq) + Braq) > AgBr(s) + Na‘*ag) + NO; (ag)

net ionic: Ag*aq + Br @ > AgBrs)

2AgNOs@aq) + Mgliag > 2A8L) + Mg(NOs)aaq)

ionic: 2Ag*ag) + 2NOs (aq) + Mg (aq) + 2 ag) > 2A8Ls) + Mg (ag) + 2NO3™(ag)
net ionic: Ag*ag + I'ag > Agles)

CuSO,(aq) + 2NaOH@aq) = Cu(OH),s) + Na,SOyaq)

ionic: Cu* g + SO,> (aq) + 2Na*(ag) + 20H (aq) > Cu(OH)ys) + 2Na*@g) + SO,> aq)

net ionic: Cu* q) + 20H ag) © Cu(OH).(s)

Using the solubility rules

ionic: Ba*(aq) + 2NO3*> (aq) + 2K*aq) + CO3*"aq) 2 BaCOj3() + 2K* (aq) + 2NO; ()
net ionic: Ba* g + CO5> aq > BaCOsy)

ionic: Pb** aq) + NO3 (aq) + Ca**(aq) + 2Cl (aq) = PbCly(s) + Ca**(aq) + 2NO3 aq)
net ionic: Pb**(5q) + 2Cl aq) & PbClys)

ionic: Mg*"(aq) + 2Cl (aq) + 2K"(aq) + 20H (aq) > Mg(OH), + 2K'(aq) + 2Cl ag)
net ionic: Mg g + 20H (aq) > Mg(OH)»(s)

ionic: Ca**(aq) + 2Br (aq) + 2Na*(aq) + SO,> (aq) 2 CaSO,) + 2Na*(aq) + 2Br (g
net ionic: Ca**(aq) + SO,* (aq) 2 CaSO,s)

ionic: Sr**aq) + 2Cl (aq) + 2Na*aq) + 20H (aq) = Sr(OH),s) + 2Na*(aq) + 2Cl (ag)

net ionic: Sr**aq) + 20H (aq) » Sr(OH)ys)

Writing ionic equations from descriptions

1.

2HClq) + Ba(OH)saq) = BaClyag + 2H,0q)
ionic: 2H @) + 2C1_(aq) + 20H g 2> Ba2+(aq) + 2C1_(aq) + 2H,0q

net ionic: H*q) + OH ag) 2 H.O0q)
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2. H,SO,aq + 2NH,OH(q) = (NH,),SO,aq + 2H.O0()
ionic: 2H"aq) + SO,* (aq) + 2NH,"(aq) + 20H aq) @ 2NH,*(aq) + SO,* (aq) + 2H,0()
net ionic: H*@q) + OH aq) > H20q)

3. FeSO,aq + 2NaOH@aq) > Fe(OH),s) + Na,SO,aq)
ionic: Fe** g + SO,> aq) + 2Na*(aq) + 20H (aq) > Fe(OH).s) + 2Na*(aq) + SO4* (aq)
net ionic: Fe**aq) + 20H (aq) 2 Fe(OH)ys)

4. Pb(NOs)z(aq) + (NH,)2S04aq) > PbSOys) + 2NH,NOs(aq)
ionic: Pb**(aq) + 2NO; (aq) + 2NH, " (aq) + SO4* (aq) = PbSOy(s) + 2NH, " (aq) + 2NO; (aq
net ionic: Pb**(aq) + SO,> (aq) > PbSO,s)

5. 2HNOj(aq) + Ag2COss) 2 2AgNO;(aq) + CO4g) + H2O0()
ionic: 2H*ag) + 2NO3™ag) + AZ2CO03(5) > 2A8" (aq) + 2NO3 (aq) + CO4g) + HaOqy

net ionic: 2H"aq) + Ag2C03¢s) > 2Ag" ag) + COx + H20q)
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